MEC %51

i

RELFEENIEER

A TR

mindman

ST

o BRI « A TG -

o S HOAT A2 I TR -

o T R AT A 75 5% IR
Bt T S ©

o REGHIRUI - ETRL ~ HURESREEER -

* EVEIRIENIL  ERRAEETAELT * FERL

e E S

o I PR B e B2

o NEEFHRL A -

o TRTRIIIEE A -

o JHEELEE +5~+60°C

© 77){of FHIHE SR ES AR MR - RSB B 1~2 BRsd i -

MFC — 1012 T—M12x1.5

=

. PR RS
BU5R EF R~ Bz
. R ZtE M {H
S: 7
F: FAC #!
L: LB #Y
{5t FH a1 -
TFHETE SRJRREL
N ,II:
7% S

AW mindman



MFEC 581

= N7y -
RELFENEER mindman
F
S M
M
ﬂ N et /-
E i) I —
S ==t 1 8
®y o —— L
= =)
B G|
c |LE P
A
JEF A B P =i TN
mige | e clop|E|F|G|H M s sz 0 B | R %%
(mm) | ST |7 R A7 Rt |z u Ny |
MFC-1003T | 6 24.5 7 8| 12 | 2|03 | 35| 8 M3x0.5 7 M3x0.5xH2.5%B6 L 19 | 10
+0.5——+05 +0.5 SRR
MFC-1004T | 8 26 8 9| 12 | 2|04 | 4 | 8 M4x0.7 7 M4x0.7xH3.5%B8 0.7MPa 54 | 10
MFC-1005T | 10,15 | 38 14 15| 18 | 3|05 | 5 |10 M5x0.8 8.5 M5x0.8xH4xB8 05 (r&aﬁf_-) 123 | 20
MFC-1006T | 15 | 38 14 15| 18 | 3[(o6 [ 5 [10 M6x1.0 85 M6x1.0xH5xB10 123 | 20
MFC-1008T | 20 | 50 1ol 8ol 201 24 | 4]o8 | 7 |13 MB125 |12 | o M8x1.25xH6xB13 1100 | 90
MFC-1010T | 25,30 | 61 |~ |20 | | 22| 26 | 5|010| 8 [17| M10x1.2515 |14 |= | M10x1.25/15xH6xB17 075 2500 | 110
MFC-1012T| 40 | 58 20 22| 28 | 5|o12| 8 |17 [M12x1.2511.5/1.75/12 M12x1.25/1.5/1.75xH7xB19| 4400 | 110
MFC-1014T| 40 | 70 21 24| 35 | 7|o14] 9 |22 M14x15 (17 M14x1.5xH8xB22 1 6000 | 250
MFC-1016T | 50,63 | 90 26 28| 45 | 9|o18[13.5]27 M16x15 |23 M16x1.5xH8xB23 195 11000 | 500
MFC-1018T | 50,63 | 90 26 28| 45 | 9|o18[13.5]27 M18x15 (23 M18x1.5xH8xB24 ’ 11000 | 500
MFC-1020T | 80 (103 30 32| 50 | 8|m22[16 |32 M20x15 |27 M20x1.5xH8.5xB30 S 18000 | 720
| Y | e
MFC-1022T | 80 [103 30 32| 50 | 8|m22|16 |32 M2x15 |27 M22x1.5xH10xB32 %ﬁgﬁ 18000 | 720
MFC-1024T | 100 (123 38 38| 61 |12 |026(19 |41 M24x15 (33 M24x1.5xH11xB35.5 3.5MPa| 28000 |1300
MFC-1026T | 100 (123 38 38| 61 |12 |026(19 |41 M26x15 (33 M26x1.5xH11xB35 25 (E"’;:) 28000 |1300
MFC-1027T | 125 |[154 |+2.0| 56 |+20| 58| 63.5| 19 |029|20 |41 M27x2.0 |33 |#20]  M27x2.0xH10xB50 28000 |1620
MFC-1030T |125,140|154 56 58| 63.5 19 [029(20 |41 | M30x15/2.035 |33 M30x15/2.0/3.5xH10xB46 | 3 54000 (1610
MFC-1036T | 140,160 {184 69 70| 75 |20 |035(23 |50 M36x1.520 |42 M36x1.5/2.0xH10xB50 . 71000 (2820
MFC-1039T | 140,160 {184 69 70| 75 |20 |035(23 |50 M39x15 |42 M39x1.5xH10xB50 71000 (2820
MFC-1040T | 160 [194 74 74| 85 |15 |D43|25 |69| M40x1.5020 |40 M40x1.5/2.0xH12xB65 5 71000 [4300
MFC-1045T | 160 |194 74 74| 85 [15|043(|25 69| M45x15020 (40 Md5x1.5/2.0xH12xB65 71000 (4300
MFC-1050T | 160 (210 70 70(105 |16 |053[35 [85| Ms50x20 |55 M50x2.0xH13xB65 6 80000 (6980
| L R
R 1 2
H H
o M o M
oy D 1 i b —
e % s L Bl rH = mina
;IEE [t) ] E‘ﬁ B bl i — L
® 5 7 N 7
; o L] o e > L]
(i j 1= T _ T _ T [ T ] T
Il Il Il Il Il Il Il Il Il
D
5 2-0K F P 4-0K E P
L F
(A) L
(A)
Model AlB|cC D E F H | K L R M N P lllustration | Permissible | Rot. Weight (g)
DIM. [TOL.| figno. | U deviation | angle gnt{g
MFC-1008L | 68| 44 [ 15|26 | — |19 | 11| 4| 9| 29| 9 M8x1.25 M8x1.25 12 0.5 150
MFC-1010L | 84| 44 [19 | 26| — |24 | 12| 5| 9| 35| 10| M10x1.25/1.5 M10x1.25/1.5 410 075 200
MFC-1012L | 81| 44 |19 |26 | — |24 | 12| 5| 9| 35| 10 | M12x1.25/1.5(1.75 | M12x1.25(1.5M1.75 | 12 | | : 200
MFC-1014L (114 69 [ 22 | 36 | — | 40.5| 21 | 10 | 14 | 56| 15 M14x1.5 M14x1.5 17 1 600
MFC-1016L [163| 61 [ 28 |32 [ 32|76 | 32| 15| 11 | 90| 17 M16x1.5 M18x1.5 23 195 |s0.5: 1150
MFC-1018L [163| 61 [ 28 |32 |32 |76 | 32| 15| 11 | 90| 17 M18x1.5 M18x1.5 23 ’ o 1150
MFC-1020L (193] 68 | 35 | 36 | 36 | 89 | 40 | 20 | 14 [109] 21 M20x1.5 M22x1.5 27| ol o ) 1900
MFC-1022L (193] 68 | 35 | 36 [ 36 | 89 | 40 | 20 | 14 [109] 21 M22x1.5 M22x1.5 27 777 1900
MFC-1024L |214| 69 | 42 | 36 [ 36 | 95 | 45| 20 | 14 [ 113 21 M24x1.5 M26x1.5 33 25 2800
MFC-1026L |214| 69 | 42 | 36 [ 36 | 95 | 45| 20 | 14 | 113] 21 M26x1.5 M26x1.5 33 i 2800

M mindman




MFEC 581

RELFENIRER mindman
M
KX 1\
>l 1 Firl .
DT — l:: °
G
c||E P
A
1 RS i \ =
s e A oo |E|F|e|n— M N wwrae | om | T | m
(mm) | RoF| 2| Rer | A Rt |z uopEEL TNy | @
MFC-1008S| 20 | 36 6 24 | 4|o8 | 6513 12 M8x1.0/1.25 | M8x1.0/1.25 0.5 1100 60
MFC-1010S | 25,30 | 48 11.0311.0 26 | s|oto] 8 [17] 14 | Mi0x12515 | Mioxt25i5 | 2500 97
MFC-1012S| 40 | 46 9 28 | 5|o12] 8 [17] 12 M12x1.25[1.5 | M12x1.25/1.5 4400 | 100
MFC-1014S| 40 | 59 |11 | 35 | 7[o14] 9 [22] 17 M14x1.5 M14x1.5 1 6000 | 220
MFC-1016S | 50,63 | 77 13| 45 | 9|o1sl13 [27] 23 M16x1.5 M18x1.5 18 11000 | 480
MFC-1018S | 50,63 | 77 13 45 | 9[o18f13 [27] 23 M18x1.5 M18x1.5 11000 | 480
MFC-1020S| 80 | 90 | 18 | 50 |10|o22[16 [32] 27 M20x1.5 M20x1.5 5 |uogel 18000 | 660
MFC-1022S| 80 | 90 18 50 |10 [o22{16 [32] 27 M22x1.5 M20x1.5 18000 | 660
MFC-10248| 100 [107) 20| |60 [12]026[19 [41]33 | | M24xis5 M26x1.5 28000 | 1190
MFC-1026S| 100 [107 | 20 | 60 |12 [o26(19 [41] 33 M26x1.5 M26x1.5 a5 28000 | 1180
MFC-1027S| 125 |[117 20 63.5| 19 [o29]20 [41] 33 M27x2.0 M30x1.5 28000 | 1380
MFC-1030S [125,140[ 117 |20 | 63.5| 19 [o29[20 [41] 33 M30x1.5/2.0/3.5 | M30x1.5/2.0/3.5 36000 | 1420
MFC-1036S [140,160| 133 | 25| 75 |20|035(22 [50] 40 M36x1.5/20 | M36x1.5/2.0 s 55000 | 2800
MFC-1045S [140,160( 147 29 85 | 15 |m43[24.5/69] 39 M45x1.5/2.0 | M45x1.5/2.0 55000 | 4300
B s srmen
1 2
M \
///;’T\:\\\ ///;’T\:\\\ & of o (] A
/H/A\\i wl o 7**f/H/f 74:777” %‘l";* o4 _;‘Eiq—f—AfAk I 9
\\\\\\\ ////// \\\\\\\ ///// & /“l}’/; '1;’;:L Lt
AR 4 |
SEN @b O ||
‘ |2-0J A-2J / ‘
OE LT P
B OB A
WY —r 1B |C|oD|E|H|4|T Mo ot e | FRE R ey | o)
MFC-1008F | 36 25|52 |24 [ 40 | 1366 6 | Mext.0125 | 12 0.5 130
MFC-1010F | 48 32|56 |26 |44 | 17 [ 66| 9 | Mi0x1.25/15 | 14 235
+1.0 +1.0| [l 1 0.75
MFC-1012F | 46 32|56 | 28 [ 44 | 17 [ 66| 9 | M12x1.2511.5 | 12 240
MFC-1014F | 59 38|80 [ 35|60 |22 11 [116] M14x15 17 1 510
MFC-1016F | 77 74| - [45 a5 2711 ] 15 M16x1.5 23 108 1120
MFC-1018F | 77 74| — |45 a5 27| 11 ] 15 M18x1.5 23 - 1120
MFC-1020F | 90 100 - |50 [ 6232 14| 21 M20x1.5 27 ) w0 | R | 2280
MFC-1022F | 90 00| — | 50 | 62 | 32 | 14 | 21 M22x1.5 27 3.5MPa | 2280
MFC-1024F | 107 100 — [ 60 |70 [ 41 [ 14 | 21 M24x1.5 33 HE 2870
20 +2.0| M2
MFC-1026F | 107 100 - [ 60 [ 70 [ 41 [ 14 [ 21 M26x1.5 33 - 2870
MFC-1027F | 117 100 - |e35| 70 | 41 | 14 | 21 M27x2.0 33 3070
MFC-1030F | 117 100 | - |e35( 70 | 41 [ 14 | 21 [m30x1.5/2.03.5] 33 3070
MFC-1036F | 133 130 = | 75 | 95 | 50 | 16 | 25 | m3ex1.52.0 | 40 . 5790
MFC-1045F | 147 160 | — | 85 | 110 | 69 | 16 | 22 | M45x1.52.0 | 39 8600

M mindman




	1_規格
	2_外觀尺寸
	3_外觀尺寸

